PART/PRINT #: PART DESCRIPTION: SCALE:
AKP10400 GASKET PACK 18”CVR 2X2 AAF NOT TO SCALE

REVISION:

006

DATE:

| 1/16/04

+
& N
ADap 7__ Pt’(‘\, ADap r-p-<

(2> 2” ADAPT-A-FLEXES

c 172" RP1

1/78”X1/2"X6” GASKET TAPE ROLL

TTTTITOIT Y

(8> 3/4-1/4"x20” BOLTS

LR

1/4"X1-1/4" LAG BOLTS

<ﬁ3@@@@@@

(8> 1/4” FLAT WASHERS

B.O.M

AKR50440 2" ADAPTAFLEXES

AKRS51250 RP1 RUBBER PLUG 1 HOLE
AKRS50130 1/8"X1/2"X6' GASKET TAPE ROLL
AKRS0110 ZINC 1/4" FLAT WASHERS
AKRS0095 ZINC 1/4"X1 1/4" LAG BOLTS
AKR30100 ZINC 1/4-20X3/4" BOLTS

ONI SAIJLSNAONI AV 40 AldddUsdd F10S IHL ST ONIMVAT SIHL

PLYMOUTH, IN. 46363
PHONE:(574> 936-6022 [M,OLIVAREZ

AK INDUSTRIES INC. DRAWN BY: | TOLERANCE: SIGNATURE:!
@ 2055 PIDCO DR




